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1|l 1, 3=y Z7ma7mr (D—D) 0.05 0.0005 T RRAE
2| 2, 2—DPA (ZFHKY) 0.08 0.0008 JE T RRAE
3| 2,4—D (2, 4—PA) 0.02 0.0002 E T RAE
4 0.004 0.00004 JE T RRAE
5 0.005 0.00005 T RRAE
6| TvaTn 0.9 0.009 E T RAE JE T RAE
7| 7&7=—Fh 0.006 0.00006 JE T RRAE
8| 7rIvv 0.01 0.0001 JE T RRAE
9| 7T=okx 0.003 0.00003 E T RRAE
10| 737X 0.006 0.00006 E = T RAE
1| 7o7a—1 0.03 0.0003 E T RAE
12| AxHF4r 0.005 0.00005 JE T RRAE & BT R E
13| AV 7 =R A 0.001 0.00001 E T RRAE
14| A7 ahnL7 (MIPC) 0.01 0.0001 JE T RRAE
15| V7 uaF+I IPT) 0.3 0.003 E T RAE JE T RAE
16| A7 7= I, 0.002 0.00002 T RRAE
17| A7 r~<ykA (BP) 0.09 0.0009 E T RAE
18| A3 2500 0.006 0.00006 E T RAE JE B FRRAE
19| A% 757 0.009 0.00009 T RRAE
20| =ASEHINT 0.03 0.0003 E BT RAE
21| =h7=rFuysA 0.08 0.0008 T RRAE
22 =yRALT 7 (R TEY) 0.01 0.0001 T RRAE
23| AxHrrmrRy 0.02 0.0002 T RRAE
24| A8 (G HEER) 0.03 0.0003 JE T RRAE
25| AVHYAbrEY 0.1 0.001 JE T RRAE
26| HAVIHRA 0.0006 0.000006 JE T RRAE
27| h7=rAbm—)L 0.008 0.00008 E T RRAE
28| Ny 0.08 0.0008 JE T RRAE
29[ B U (NAC) 0.02 0.0002 E = T RAE
30| IRTT 0.0003 0.000003 JE T RRAE
31| */2773 (ACN) 0.005 0.00005 JE T RRAE & BT RRE
32| Fvrs 0.3 0.003 E = T RAE
33[ r3irmy 0.03 0.0003 E = T RAE
34 ZVARY—1 2 0.02 E = T RAE
35| kv R—h 0.02 0.0002 JE T RRAE
36| rrAT BT 0.02 0.0002 E = T RAE
37| Zunr=rr7=> (CNP) 0.0001 0.00001 JE T RRAE
38| 7w EVRA 0.003 0.00003 JE T RRAE
39| Zun&r=,L (TPN) 0.05 0.0005 JE T RRAE
40| v TFvv 0.001 0.00001 E T RRAE
41| ¥ 7 /KA (CYAP) 0.003 0.00003 E T RAE
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42| Yay (DCMU) 0.02 0.0002 T RRAE
43| Yrmu~_=L (DBN) 0.03 0.0003 JE T RRAE
44| YrarRA (DDVP) 0.008 0.00008 JE T RRAE
45| YrUvh 0.01 0.0001 JE T RRAE
46| VAVIRR (ZF LT FARY) 0.004 0.00004 E BT RAE
47| SFA ISR NP 0.005 oiey [0-0005 fick R RUEd i
48| vFAEN 0.009 0.00009 T RRAE
49| v aky T T v 0.006 0.00006 JE T RRAE
50| v~ (CAT) 0.003 0.00003 JE T RRAE
51| VUAHANIY 0.02 0.0002 E BT RAE
52| YAh=—}h 0.05 0.0005 JE T RRAE
53| AN 0.03 0.0003 E BT RAE
54 ATV v 0.003 0.00003 E BT RAE
55| #ALmr 0.8 0.008 E BT RAE
56| 10 s AR IR Zggiﬁgﬁw 0.0001 R FIRA
57| F7v=n 0.1 0.001 E BT RAE
58| FUTA 0.02 0.0002 E BT RAE
59| FAVAINT 0.08 0.0008 T RRAE & BT RRE
60| FAT7F—hAF L 0.3 0.003 JE T RAA JE B FRRAE
61| FA~ AT 0.02 0.0002 E & T RAE
62| T7UNNIF 0.002 0.00002 E BT RAE
63| F/THLT (MBPMC) 0.02 0.0002 JE T RRAE
64| RJZwe v 0.006 0.00006 E BT RAE
65| FIZEAEY (DEP) 0.005 0.00005 E T RRAE
66| KT rTY— 0.1 0.001 E = T RAE
67| NIZLTY 0.06 0.0006 E BT RAE
68| FT7m/IK 0.03 0.0003 JE T RRAE
69| /XFa—h 0.005 0.00005 E BT RAE
70| ERmRA 0.0009 0.000009 E BT RAE
71| ©7rn= 0.01 0.0001 E BT RAE
72| BIFV Tz 0.004 0.00004 E BT RAE
73| E7VUR—h (T —hN) 0.02 0.0002 JE T RRAE
4| VX Tz T F 0.002 0.00002 & BT RAE
5| V7T AT 0.02 0.0002 JE T RRAE
76| vu¥mr 0.05 0.0005 & BT RAE
77 747 =) 0.0005 0.000005 E BT RAE
78| 7==brF+r (MEP) 0.01 0.0001 JE T RRAE
79| 7=/7HNV7 (BPMC) 0.03 0.0003 E T RRAE
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80| 7=V vyv 0.05 0.0005 T RRAE
81| 7=rF 4 (MPP) 0.006 0.00006 JE T RRAE
82| 7= hx=—NPAP) 0.007 0.00007 JE T RRAE
83| 7= hT¥IR 0.01 0.0001 E T RAE
84 74K 0.1 0.001 E T RAE
85| 7xsm—n 0.03 0.0003 E BT RAE
86| THIFA 0.02 0.0002 JE T RRAE
87| 77uT=vv 0.02 0.0002 JE T RRAE
88| 77 0.03 0.0003 E = T RAE
89| YL FIru— 0.05 0.0005 E = T RAE
90| Fuv IRy 0.09 0.0009 T RRAE
91| FuaFAEA 0.007 0.00007 JE T RRAE
92| Fut=arv—i 0.05 0.0005 E T RRAE
93| Fub IR 0.05 0.0005 JE T RRAE
94| FuaFV—u 0.03 0.0003 T RRAE
95 TmETFR 0.1 0.001 E T RAE
96| ~/L 0.02 0.0002 T RRAE
97| ~vrmy 0.1 0.001 T RRAE & BT RRE
98| ~>vevrmy 0.09 0.0009 T RRAE
9| Tz FT 0.005 0.00005 T RRAE
100| ~v2vyv 0.2 0.002 E = T RAE
101 ~oF x5y 0.3 0.003 E = T RAE
102 ~>77m07 0.02 0.0002 T RRAE
103[ ~oo7AFV (R2EPY) 0.01 0.0001 E = T RAE
104 ~v7Lt—p 0.07 0.0007 E = T RAE
105 HAFT7E—F 0.005 0.00005 JE T RRAE
106| ~FF A (wFV) 0.7 0.007 E = T RAE
107| #A=a7my7 (MCPP) 0.05 0.0005 JE T RRAE
108 Avzv 0.03 0.0003 E = T RAE
109| #A%#F% L 0.2 0.002 E = T RAE JE B FRRAE
110| AF& T4 (DMTP) 0.004 0.00004 JE T RRAE
11| A3 /AbEEY 0.04 0.0004 E = T RAE
112] ANT Vv 0.03 0.0003 JE T RRAE
113| A7=Ftvk 0.02 0.0002 E = T RAE
114| A7m=n 0.1 0.001 & BT RAE
115V R—h 0.005 0.00005 JE T RRAE
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